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Business, Accounting and Financial Studies (BAFS) - Compulsory Part
1 (b) Introduction to Management－Management Functions
Revision Exercise 

Section A: Multiple Choice Questions (@1, total 10 marks)

1. Which of the following is not the resource of a company?

A. Labour.

B. Cash.
C. Knowledge.
D. Property owned by shareholders.

Level of difficulty: **

2. Which of the following is middle-level manager?
A. President.

B. Branch manager.

C. Supervisor.

D. Worker.

Level of difficulty: *

3. The informational role of a manager includes the ________ and ________ the activities of people both inside and outside the company.
A. Linking, coordinating
B. Receiving, transmitting
C. Deciding, leading
D. Planning, organising
Level of difficulty: **

4. Which of the following is not the reason for planning?
A. Reduces operation uncertainty.

B. Reduces overlapping and wasteful activities.

C. Designate the jobs to be done within the company.

D. Establishes goals and standards for control.

Level of difficulty: *
5. One of the advantages of organising by function is:
A. Good communication between departments.

B. Better service can be provided to customers.

C. Resources can be allocated by departments.

D. All of the above.

Level of difficulty: **

6. A good manager should have the following leadership skills except:
A. Self-awareness.
B. Self-regulation.
C. Self-centred.
D. Empathy.

Level of difficulty: *

7. A leadership style which manager retains all power and decision-making authority is called:
A. Autocratic leadership.

B. Bureaucratic leadership.
C. Democratic leadership.

D. Laissez-faire leadership.

Level of difficulty: *

8. For control purpose, a standard must be __________ and __________.
A. Ideal, achievable
B. Reasonable, achievable
C. Meaningful, measurable
D. Identifiable, reliable
Level of difficulty: **

9. According to the principle of unity of command, an individual should report to ________ supervisor(s).
A. Only one
B. Two
C. Less than four
D. Many
Level of difficulty: *

10. Under the _______________________, the company authorises the managers to carry out certain tasks.
A. Unity of command
B. Division of labour
C. Management by objectives 
D. Principle of authority
Level of difficulty: **
Section B: Short Questions
	***
	1. 
	You are the manager of a local boutique.  The goal of the company is to obtain 20% sales growth for next year.

By using the planning process, prepare a plan for the company. 
	(10 marks)


	
	
	
	

	**
	2. 
	What is the relationship between span of control and ‘organisational structure’?
	(8 marks)

	
	
	What structure should a multinational company be?  Why? 
	(2 marks)

	
	
	
	

	***
	3. 
	John is the General Manager of a professional accountancy firm, XYZ Limited.  He has over 10 years marketing experience.  There are four professional accountants in the company who report to him and the accountants supervise four teams of accounting staff to provide accounting services to its clients.  John makes decisions for all operations including how to prepare the financial reports for their clients even he knows very little about accounting.  He did not consult the accountants regarding the operation but just expected them to follow his orders without any explanations.
	

	
	
	(a) Identify the leadership style of John.
	(2 marks)

	
	
	(b) Explain whether this leadership style is effective in this case.  If not, which style is more appropriate?  
	(8 marks)

	
	
	
	

	**
	4. 
	Using the list of job titles provided below, develop an organisational chart by using functional departmentalisation with unity of command.

· Chief Executive Officer

· Vice President, Accounting & Finance

· Finance Manager

· Vice President, Logistic

· Marketing Manager

· Logistic Manager

· Accounting Supervisor

· Vice President, Marketing

· Warehouse Supervisor

· Customer Service Clerk
	(10 marks)



	
	
	
	

	**
	5. 
	Briefly discuss the advantages and disadvantages of division of work? 

	(10 marks)


Suggested Solutions
Section A: MCQs

	1. D
	2. B
	3. A
	4. C
	5. C

	6. C
	7. A
	8. B
	9. A
	10. D


Section B: Short Questions.
	Question 1

1. Stating company goals – obtain 20% sales growth in next year.

2. Listing alternative ways of reaching goals – 1. design new fashion; 2. reduce sales price; 3. increase promotion in fashion magazine.
3. Developing assumptions upon which each alternative is based – 1. it is technically feasible to design new fashion; 2. there is still room for price reduction; 3. many competitors are doing the same to enhance sales.
4. Choosing best alternative for reaching goals – it is better to design new fashion because it can enhance the company’s brand and profit will be decreased if using price reduction or increasing promotion expense.
5. Developing plans to pursue chosen alternative – a short-term plan is considered to design 5 styles of fashion in next year.

6. Putting plans into action – Designer starts to think about the new design.

[Remarks: marks will be awarded to any other appropriate answers.]
	(@2 for steps 2 to 6, total 10 marks)


	
	

	Question 2
The span of control means the number of subordinates who report directly to a manager.  A flat organisation structure is an organisation that has fewer hierarchical levels of management and a relatively broad span of control. Under a flat organisation structure, a manager needs to supervise a large group of subordinates at one time.
	(4 marks)

	A tall organisation structure is an organisation that has more hierarchical levels of management and a relatively narrow span of control. Managers at each level supervise a small number of subordinates and report to the managers at a higher level. 
	(4 marks)

	A multinational company should adopt a tall organisational structure as the number of subordinates is so large that a few managers cannot supervise all of them on their own at one time. 
	(2 marks)

	Question 3
(a) The leadership style of John is autocratic as he retains all the power and decision-making authority.  He makes decisions on his own without consulting employees and expects employees to simply follow the instructions without question. 
	(2 marks)


	
	

	(b) Autocratic leadership is best applied to situations where there is little time for decision-making or where the leader is the most knowledgeable person of the team.  In this case, John has little knowledge about accounting and hence may not be able to make appropriate decisions on preparation of financial reports.  Therefore, this leadership style is not appropriate in this case.  Instead, a laissez-faire leadership style should be adopted as it gives most authority or power to accountants who are highly qualified in the accounting practice and requires them to set goals, make decisions and resolve problems on their own.
	(8 marks)



	
	

	Question 4 

The organisational chart is presented as below.
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	(@1, total 10 marks)




	Question 5
The advantages and disadvantages of division of work are:
Advantages
· Increases productivity – when workers specialise in a particular task, their skill at performing that task becomes more efficient.
· Fewer skills are required per person – workers need only to know how to perform their part of the task rather than the entire process for producing the end product.
· More conformity in the final product results when each piece is always produced by the same person – workers concentrate on performing only one task makes the outcome of their task more consistent.
Disadvantages
· Boredom due to the constant repetition of tasks – the repetition of the same task is boring and reducing job satisfaction.
· Results in poor quality of work and high turnover – once workers become bored, their productivity often declines, absenteeism and resignation increase, and the quality of work goes down.
	(@2, total 10 marks)
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